It’s a risky business ...

e Column 1: calculate the number of people out of 100 who are likely to get the disease
regardless of what they do or don’t do.
Column 2: shade that many faces randomly on the grid
Column 3: calculate additional number of sufferers, so for Stripy Foot Disease you are
calculating 50% of whatever your answer was in Column 1. Shade the extra people on
the grid in a different colour.

Column 4: add together all those suffering from the disease.

Column 5: express that number as a percentage of 100 people, and write a sentence

like this: ’8% increased by 50% = __ %’ filling in the blank as appropriate.
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